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1 The graph of a fmetion /s shown below, Scvoral points
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fa) At which labeled points s 7 posilive? Explain.

') Brtween which pairs of Iabeled points does f have
a statiovary point?

(¢ Between which pair of labeled points does f have
an inffection peint?
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{c; Behveen which pair of labeled points does f7achicve
its mintan value?

2 The graph of a function f is shown below.
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95 On whish intervals 15 f7 increasing® Decreasing?
1l Where does [ achieve its maximum viuc? Estimate
;- thivobae of o ‘ ) ¢
W Wihiey o does [ achicve its mininnom vajue? Fstimate '5 \
o Wiis walae of j7
) Sketeh u urapli of /7. [NOTE: Your sketch should

be consistent with your answers to parts (a)—(d).]
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3. The araph o ¢ lunetion )18 shown below
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4, The graph of the derivative of a function g is shown be- :
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low. Use the graph ol g’ to answer the following ques-
tions aboul g, [no1i: The graph of g is not shown.] W= \ 55 q,C'(
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i) The graph ol g has a loyeal maximim ol ¥ = 3.8 and Concave ©P.

v

y loeal mirmuom al a = 7.4 What do thiese facts «
aboul the graph ol g?
(dy Is g concave up or concave down at x = 5? At
X = 87 Justify your answers.



In problems 5 and 6, be sure to explain why your choice is correct.

5. Which one of the graphs in Figure 12 cou d represent d function(f (v for which = BT A)h
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6. Which onc of the graphs in Figure 12 could represeut
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For problems 7 and 8, sketch a possible graph of f{x) given the following characteristics.
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7. £(2) = 1; £'(2) = 0; concave up for all x.

8. f(—1) =0 /(x) <Oforx < —1 F-1=0;and f'(x) >0 forx > -l
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9.  Relvr to the craph in Figure 13,

Fill in cach entry of the grid with POS. NEG,
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10. f(x)= %x3 — x* = 3x + 5 Show all work for the following. NO CALCULATOR UNTIL PART e!

a. Find f'. Determine the intervals on which f is increasing & decreasing. Hini: NLA!
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b. Use your NLA to determine the coordinates of the relative maximum and relative minimum.
Mpw( X"‘ l f\ Ml/\ . X= 3 (d} _L.{>
0.6 /
Nz 6. A C > _ ‘QCE‘)

c. Find f". Determine the intervals on which f is concave up & concave down. Hint: NLA!
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e. Check your answers to parts a — d using your calculator. (You do not have to sketch the graph.)
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